A ‘ 05550 @ M6 rong da thirc

Tén:_ Ngaythang:_ Piém:__
(5x = 6)(5x> —x— 5)— (2x + 3)(3x + 2) (5x — 4)(3x* — 2x — 2) + (4x + 3)(2x — 1)
(4x — 4)(4x + 4)(2x + 6) (3x+ 6)(2x — 6)(dx + 5)
6x + (2 — x)(x — 2)(4x + 6) (> — 4x + 6)(5x + 6) — 6x — 4
2x— (4— 4x)(x + 5)(4x + 1) X+ (3 +4x)(6x — 4)(2x + 6)
6x — (1= 5x)(3x + 5)(2x + 5) (4x> — 4x—3)(6x— 1)~ 5 x 6x+ 2
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A®OE O

Mo rong da thue

Tén:

(5x— 6)(5x* —x— 5)— (2x + 3)(3x + 2)
25x° — 41x* — 32x + 24

(4x — 4)(4x + 4)(2x + 6)
32x° + 96x° — 32x — 96

6x+ (2—x)(x— 2)(4x + 6)
4 + 10x% + 14x— 24

2x— (4 —4x)(x+ 5)(4x+1)
16x° + 68x% — 62x — 20

6x — (1 —5x)(3x+ 5)(2x + 5)
30x° + 119%° + 106x — 25

Ngay thang: Diém:

(5x — 4)(3x% — 2x— 2) + (4x + 3)(2x — 1)
15x° — 142 + 5

(3x + 6)(2x — 6)(4x + 5)
24x> + 6x> — 174x — 180

(* — 4x+ 6)(5x + 6)— 6x — 4
5 — 14 + 32

x+ (3+4x)(6x— 4)(2x + 6)
48x° + 148%° — 11x— 72

(4% — 4x—3)(6x— 1)— 5 x 6x+ 2
2453 — 28x% — 44x+ 5
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